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Problem L. The only winner
Input file: standard input
Output file: standard output
Time limit: 1 second
Memory limit: 256 megabytes

Andrew decided to give a gift to one of his n guests. In order to choose the lucky one, Andrew decided
to arrange a lottery. To do this, he took 2n cards with numbers from 1 to 2n, mixed them and gave two
cards to each guest. The gift will be given to the guest, whose sum of the numbers on the cards is the
maximum. However, after Andrew handed out the cards, he realized that there could be several winners.
He asks you to calculate the probability that he will not have to look for additional gifts.

Input
The only line contains one integer n.

1 ≤ n ≤ 105

Output
Let the answer to the problem be an irreducible fraction P

Q .

Output P ×Q−1 modulo 109 + 7 as the answer. It is guaranteed that Q is not divisible by 109 + 7.

Example
standard input standard output

2 666666672
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